
https://www.passapply.com/c7010-013.html
2024 Latest passapply C7010-013 PDF and VCE dumps Download

 

 

 

C7010-013Q&As

IBM Cúram V6.0.5, Business Analysis and Design

Pass IBM C7010-013 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/c7010-013.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C7010-013 VCE Dumps | C7010-013 Study Guide | C7010-013 Braindumps                                1 / 5

https://www.passapply.com/c7010-013.html
https://www.passapply.com/c7010-013.html
https://www.passapply.com/c7010-013.html


https://www.passapply.com/c7010-013.html
2024 Latest passapply C7010-013 PDF and VCE dumps Download

QUESTION 1

Which of the following statements about IBM Cúram Evidence records is true? 

A. Each evidence record is associated with an evidence relationship 

B. Each evidence record is associated with a case owner 

C. Each evidence record is associated with an evidence type 

D. Each evidence record is associated with an evidence approval check 

Correct Answer: A 

 

QUESTION 2

The agency wishes to register a community-based organization (CBO), which will submit applications and supporting
documentation on behalf of other participants. 

The agency should register this CBO as which participant type? 

A. Person 

B. Service supplier 

C. External party 

D. Employer 

E. Representative 

Correct Answer: E 

 

QUESTION 3

James Smith has made a claim for a benefit for which three product components exist: personal rate, audit-dependent
rate, and child-dependent rate. James has been deemed eligible for a payment of $50 per week with respect to himself,
$30 per week with respect to his wife, and $20 per week with respect to his child. 

By default, how many individuals will receive a payment resulting from this case? 

A. One 

B. Three 

C. Four 

D. Two 

E. Zero 
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Correct Answer: A 

 

QUESTION 4

Which three of the following statements about outcome plan objectives are true? 

A. Each objective must be related to exactly one participant 

B. Objectives are associated with factors 

C. Objectives are steps that lead to the citizen achieving the outcome plan goal 

D. Objectives can be defined by participants 

E. The administrator must define all objectives 

F. Caseworkers can create their own objectives 

Correct Answer: BCE 

 

QUESTION 5

Which three of the following statements about locations are true? 

A. Locations represent the work places of the users 

B. Each location must have a unique address 

C. Locations are organized within a hierarchy 

D. Locations are elements within the organization structure 

E. Each location can have its own holiday schedule 

F. Each location has its own lead position 

Correct Answer: ACD 

 

QUESTION 6

What is the name of this entity? 

A. Concern Role 

B. Case User Role 

C. Case Header 

D. Concern 

Correct Answer: B 
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QUESTION 7

Which three of the following items are workflow activity types? 

A. Automatic 

B. Route 

C. Event 

D. Loop 

E. Transition 

F. Notification 

Correct Answer: ABD 

 

QUESTION 8

By default, the nominee will be registered as which of the following participant types? 

A. Prospect person 

B. Person 

C. External party 

D. Representative 

E. Information provider 

Correct Answer: B 

 

QUESTION 9

When a product delivery case is created, who is the default nominee? 

A. Representative 

B. Administrator 

C. Caseworker 

D. Parent 

E. Primary client 

Correct Answer: E 
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QUESTION 10

Where will evidence display when it is brokered to a case? 

A. On the associated integrated case 

B. On the Active Evidence List 

C. On the Incoming Evidence List 

D. On the In-Edit Evidence List 

Correct Answer: C 

C7010-013 VCE Dumps C7010-013 Study Guide C7010-013 Braindumps

Powered by TCPDF (www.tcpdf.org)

C7010-013 VCE Dumps | C7010-013 Study Guide | C7010-013 Braindumps                                5 / 5

https://www.passapply.com/c7010-013.html
https://www.passapply.com/c7010-013.html
https://www.passapply.com/c7010-013.html
http://www.tcpdf.org
https://www.passapply.com/c7010-013.html
https://www.passapply.com/c7010-013.html
https://www.passapply.com/c7010-013.html

